

OPERATIONAL METHOD FOR FINITE DIFFERENCE EQUATIONS

SALVADOR MERINO CORDOBA

Department of Applied Mathematics
University of Málaga
Málaga
Spain
e-mail: smerino@uma.es

Abstract

In this article, we present a fast and direct method for solving several types of linear finite difference equations (FDE) with constant coefficients. The method is based on a polynomial form of the translation operator and its inverse, and can be used to find the particular solution of the FDE. This work raises the possibility of developing new ways to expand the scope of the operational methods.

1. Finite Difference Equations (FDEs)

These equations describe the relationship between the present value of a function and a discrete set of n previous values

$$f(t), f(t + 1), \dots, f(t + n).$$

The solution of an FDE is a function $f(t)$, with $t \in \mathbb{Z}$, that satisfies the equation.

2010 Mathematics Subject Classification: 39A70, 47B39, 65L12.

Keywords and phrases: operational method, finite difference equations, calculus.

Received January 29, 2012

Typically, the n known values for an FDE of degree n are referred to as initial conditions. In order to establish a unique solution, it is necessary to know the values of the initial conditions as precisely as possible. They are habitually defined at equal intervals starting from $t = 0 : f(0), f(1), f(2), \dots, f(n)$. In this notation, the FDE predicts $f(n)$.

1.1. Linear FDEs. A linear FDE can be expressed as follows:

$$a_0(t)y(t+n) + a_1(t)y(t+n-1) + \dots + a_{n-1}(t)y(t+1) + a_n(t)y(t) = \phi(t).$$

To solve a *linear equation with constant coefficients* (LECC),

$$a_0y(t+n) + a_1y(t+n-1) + \dots + a_{n-1}y(t+1) + a_ny(t) = \phi(t),$$

we define the **Translation Operator** T :

$$y(t+1) = Ty(t);$$

$$y(t+k) = \underbrace{T(T(\dots(Ty(t))\dots))}_k = T^k y(t)$$

$$\Rightarrow a_0T^n y(t) + a_1T^{n-1}y(t) + \dots + a_{n-1}Ty(t) + a_ny(t) = \phi(t) \Rightarrow P(T)y(t) = \phi(t),$$

and look for a general solution of the form

$$y_{General}(t) = y_{Homogeneous}(t) + y_{Particular}(t) \Rightarrow y_G(t) = y_H(t) + y_P(t). \quad (1.1)$$

Several methods for solving LECCs exist. In this paper, we develop an operational method to find a particular solution.

2. Operational Method for Finite Difference Equations

The basic idea of the operational method is simple. If we wish to define the polynomial operator $P(T)$, is it possible to establish its properties? We begin with the following axiom:

$$\mathbf{P(T)}\mathbf{g(t)} = \mathbf{f(t)} \Leftrightarrow \frac{\mathbf{1}}{\mathbf{P(T)}} \mathbf{f(t)} = \mathbf{g(t)}. \quad (2.1)$$

2.1. Properties of $\frac{1}{P(T)}$

2.1.1. Linearity

$$\begin{aligned}
 P(T)[\alpha f(t) + \beta g(t)] &= \alpha_0[\alpha f(t+n) + \beta g(t+n)] + \alpha_1[\alpha f(t+n-1) + \beta g(t+n-1)] \\
 &\quad + \cdots + \alpha_{n-1}[\alpha f(t+1) + \beta g(t+1)] + \alpha_n[\alpha f(t) + \beta g(t)] \\
 &= \alpha[\alpha_0 f(t+n) + \alpha_1 f(t+n-1) + \cdots + \alpha_{n-1} f(t+1) + \alpha_n f(t)] \\
 &\quad + \beta[\alpha_0 g(t+n) + \alpha_1 g(t+n-1) + \cdots + \alpha_{n-1} g(t+1) + \alpha_n g(t)] \\
 &= \alpha P(T)f(t) + \beta P(T)g(t).
 \end{aligned}$$

Therefore,

$$\begin{aligned}
 P(T)[\alpha f(t) + \beta g(t)] &= \alpha P(T)f(t) + \beta P(T)g(t) \\
 \Leftrightarrow \frac{1}{\mathbf{P}(\mathbf{T})}[\alpha \mathbf{f}(\mathbf{t}) + \beta \mathbf{g}(\mathbf{t})] &= \alpha \frac{1}{\mathbf{P}(\mathbf{T})} \mathbf{f}(\mathbf{t}) + \beta \frac{1}{\mathbf{P}(\mathbf{T})} \mathbf{g}(\mathbf{t}). \quad (2.2)
 \end{aligned}$$

2.1.2. Inverse Translation

$$T^n f(t) = f(t+n) \Rightarrow f(t) = \frac{1}{T^n} f(t+n) \Rightarrow$$

We change $t \rightarrow t - n$:

$$\Rightarrow \frac{1}{\mathbf{T}^n} \mathbf{f}(\mathbf{t}) = \mathbf{f}(\mathbf{t} - \mathbf{n}). \quad (2.3)$$

2.1.3. Unity. Let $y(t) = t$, with $n \in \mathbb{N}$. The expression $y(t+1) - y(t)$ is equivalent to $t+1 - t = 1$, so the FDE $y(t+1) - y(t) = 1$ has the solution $y(t) = t$. Finally,

$$\frac{1}{\mathbf{T} - \mathbf{1}}(\mathbf{1}) = \mathbf{t}. \quad (2.4)$$

2.1.4. Propagation. Let us solve the two simplest cases directly

$$y(t+1) - y(t) = t \Rightarrow \frac{t}{T-1} = \frac{t}{1} \cdot \frac{t-1}{2},$$

$$y(t+2) - 2y(t+1) + y(t) = t \Rightarrow \frac{t}{(T-1)^2} = \frac{t}{1} \cdot \frac{t-1}{2} \cdot \frac{t-2}{3}.$$

Generalizing the progression, we obtain

$$\frac{t}{(T-1)^n} = \frac{t}{1} \cdot \frac{t-1}{2} \cdot \frac{t-2}{3} \cdots \frac{t-n}{n+1} = \prod_{i=0}^n \frac{t-i}{i+1}.$$

Therefore,

$$\frac{\mathbf{t}}{(\mathbf{T}-1)^{\mathbf{n}}} = \prod_{\mathbf{i}=0}^{\mathbf{n}} \frac{\mathbf{t}-\mathbf{i}}{\mathbf{i}+1}. \quad (2.5)$$

2.2. Equations where $\phi(\mathbf{t}) = \lambda^{\mathbf{t}}$. Consider the polynomial

$$P(T) = a_0 T^n + a_1 T^{n-1} + \cdots + a_{n-1} T + a_n.$$

We have

$$\begin{aligned} P(T)\lambda^t &= a_0 T^n \lambda^t + a_1 T^{n-1} \lambda^t + \cdots + a_{n-1} T \lambda^t + a_n \lambda^t \\ &= a_0 \lambda^{t+n} + a_1 \lambda^{t+n-1} + \cdots + a_{n-1} \lambda^{t+1} + a_n \lambda^t \\ &= \lambda^t (a_0 \lambda^n + a_1 \lambda^{n-1} + \cdots + a_{n-1} \lambda + a_n) = \lambda^t P(\lambda). \end{aligned}$$

Therefore, given that $P(\lambda) \neq 0$ always holds, we consider the property

$$P(T)\lambda^t = \lambda^t P(\lambda) \Leftrightarrow \frac{\mathbf{1}}{\mathbf{P}(\mathbf{T})} \lambda^{\mathbf{t}} = \frac{\lambda^{\mathbf{t}}}{\mathbf{P}(\lambda)}. \quad (2.6)$$

Example 2.1. Find a particular solution $y_P(t)$ of the finite difference equation

$$y(t+2) - 5y(t+1) + 4y(t) = 3^t.$$

Solution:

$$y(t+2) - 5y(t+1) + 4y(t) = 3^t \Rightarrow (T^2 - 5T + 4)y(t) = 3^t.$$

Replacing:

$$y(t) = \frac{1}{T^2 - 5T + 4} 3^t = \frac{3^t}{3^2 - 5 \cdot 3 + 4} \Rightarrow y_P(t) = -\frac{3^t}{2}.$$

□

2.3. Equations where $\phi(t) = \cos n\pi t$ or $\phi(t) = \sin n\pi t$. We begin with Euler's formula

$$e^{n\pi i} = \cos n\pi t + i \sin n\pi t.$$

In particular, we consider $n \in \mathbb{N}$

$$e^{n\pi i} = \cos n\pi + i \sin n\pi = (-1)^n + i \cdot 0 = (-1)^n.$$

We apply the operational polynomial $P(T)$ to each side of the equation

$$\begin{aligned} P(T)e^{n\pi i} &= P(T)(e^{n\pi i})^t = (\text{use(2.6)}) \\ &= e^{n\pi i} P(e^{n\pi i}) = e^{n\pi i} P((-1)^n) = P((-1)^n) \cos n\pi t + iP((-1)^n) \sin n\pi t, \end{aligned}$$

and

$$P(T)e^{n\pi i} = P(T)(\cos n\pi t + i \sin n\pi t) = P(T) \cos n\pi t + iP(T) \sin n\pi t.$$

Equating the real and imaginary parts and supposing that $P(-1) \neq 0$, we obtain

$$P(T) \cos n\pi t = P(-1) \cos n\pi t \Rightarrow \frac{1}{\mathbf{P(T)}} \cos n\pi t = \frac{\cos n\pi t}{\mathbf{P((-1)^n)}}. \quad (2.7)$$

$$P(T) \sin n\pi t = P(-1) \sin n\pi t \Rightarrow \frac{1}{\mathbf{P(T)}} \sin n\pi t = \frac{\sin n\pi t}{\mathbf{P((-1)^n)}}. \quad (2.8)$$

Example 2.2. Find a particular solution $y_P(t)$ of the finite difference equation

$$y(t+2) - 5y(t+1) + 6y(t) = \cos(\pi t).$$

Solution:

$$y(t+2) - 5y(t+1) + 6y(t) = \cos(\pi t) \Rightarrow (T^2 - 5T + 6)y(t) = \cos(\pi t).$$

Replacing 2.7, with $n = 1$, we obtain

$$y(t) \frac{1}{T^2 - 5T + 6} \cos(\pi t) = \frac{\cos(\pi t)}{(-1)^2 - 5 \cdot (-1) + 6} \Rightarrow y_P(t) = \frac{\cos(\pi t)}{12}.$$

□

2.4. Equations where $\phi(\mathbf{t}) = \lambda^t \mathbf{f}(\mathbf{t})$. Consider the polynomial

$$P(T) = a_0 T^n + a_1 T^{n-1} + \cdots + a_{n-1} T + a_n.$$

We have

$$\begin{aligned} P(T)\lambda^t f(t) &= a_0 T^n (\lambda^t f(t)) + a_1 T^{n-1} (\lambda^t f(t)) + \cdots + a_{n-1} T (\lambda^t f(t)) + a_n \lambda^t f(t) \\ &= a_0 \lambda^{t+n} f(t+n) + a_1 \lambda^{t+n-1} f(t+n-1) + \cdots + a_{n-1} \lambda^{t+1} f(t+1) + a_n \lambda^t f(t) \\ &= \lambda^t (a_0 \lambda^n T^n f(t) + a_1 \lambda^{n-1} T^{n-1} f(t) + \cdots + a_{n-1} \lambda T f(t) + a_n f(t)) \\ &= \lambda^t P(\lambda T) f(t). \end{aligned}$$

Therefore, we obtain the property

$$P(T)\lambda^t f(t) = \lambda^t P(\lambda T) f(t) \Leftrightarrow \frac{\mathbf{1}}{\mathbf{P}(\mathbf{T})} \lambda^t \mathbf{f}(\mathbf{t}) = \lambda^t \frac{\mathbf{1}}{\mathbf{P}(\lambda \mathbf{T})} \mathbf{f}(\mathbf{t}). \quad (2.9)$$

Example 2.3. Find a particular solution $y_P(t)$ of the finite difference equation

$$y(t+2) - 5y(t+1) + 4y(t) = 3^t \sin(\pi t).$$

Solution:

$$y(t+2) - 5y(t+1) + 4y(t) = 3^t \sin(\pi t) \Rightarrow (T^2 - 5T + 4)y(t) = 3^t \sin(\pi t).$$

Replacing:

$$\begin{aligned} y(t) &= \frac{1}{T^2 - 5T + 4} [3^t \sin(\pi t)] = 3^t \frac{1}{(3T)^2 - 5(3T) + 4} \sin(\pi t) \\ &= 3^t \frac{1}{9T^2 - 15T + 4} \sin(\pi t) = 3^t \frac{\sin(\pi t)}{9(-1)^2 - 15(-1) + 4} \\ &\Rightarrow y_P(t) = 3^t \frac{\sin(\pi t)}{28}. \end{aligned}$$

□

2.5. Formula for polynomials $P(T - \lambda)$ with $\phi(t) = \lambda^t f(t)$. Here prove

by induction that $(T - \lambda)^n \lambda^t f(t) = \lambda^t [\lambda(T - 1)]^n f(t)$.

(1) When $n = 1$

$$(T - \lambda)\lambda^t f(t) = \lambda^{t+1} f(t+1) - \lambda^{t+1} f(t) = \lambda^{t+1}(T - 1)f(t) = \lambda^t [\lambda(T - 1)]f(t).$$

(2) Showing that the statement holds when $n = k$

$$(T - \lambda)^k \lambda^t f(t) = \lambda^t [\lambda(T - 1)]^k f(t).$$

(3) Prove when $n = k + 1$

$$\begin{aligned} (T - \lambda)^{k+1} \lambda^t f(t) &= (T - \lambda)(T - \lambda)^k \lambda^t f(t) = (T - \lambda)\lambda^t [\lambda(T - 1)]^k f(t) \\ &= \lambda^{t+1} [\lambda(T - 1)]^k f(t+1) - \lambda^{t+1} [\lambda(T - 1)]^k f(t) \\ &= \lambda^{t+1} [\lambda(T - 1)]^k [Tf(t) - f(t)] = \lambda^{t+1} [\lambda(T - 1)]^k (T - 1)f(t) \\ &= \lambda^{t+1} \lambda^k (T - 1)^{k+1} f(t) = \lambda^t [\lambda(T - 1)]^{k+1} f(t). \end{aligned}$$

Finally, we generalize for $P(T - \lambda)\lambda^t f(t)$.

Consider the polynomial $P(T) = a_0 T^n + a_1 T^{n-1} + \dots + a_{n-1} T + a_n$.

We have

$$\begin{aligned} & P(T - \lambda)\lambda^t f(t) \\ &= a_0 (T - \lambda)^n (\lambda^t f(t)) + a_1 (T - \lambda)^{n-1} (\lambda^t f(t)) + \dots + a_{n-1} (T - \lambda) (\lambda^t f(t)) + a_n \lambda^t f(t) \\ &= a_0 \lambda^t [r(T - 1)]^n f(t) + a_1 \lambda^t [r(T - 1)]^{n-1} f(t) + \dots + a_{n-1} \lambda^t [r(T - 1)] f(t) + a_n \lambda^t f(t) \\ &= \lambda^t P[\lambda(T - 1)] f(t). \end{aligned}$$

Therefore, we can establish the property

$$\begin{aligned} P(T - r)\lambda^t f(t) &= \lambda^t P[\lambda(T - 1)] f(t) \\ \Leftrightarrow \frac{\mathbf{1}}{\mathbf{P}(\mathbf{T} - \lambda)} \lambda^t \mathbf{f}(\mathbf{t}) &= \lambda^t \frac{\mathbf{1}}{\mathbf{P}[\lambda(\mathbf{T} - 1)]} \mathbf{f}(\mathbf{t}). \end{aligned} \quad (2.10)$$

Example 2.4. Find a particular solution $y_P(t)$ of the finite difference equation

$$y(t + 1) - 2y(t) = 2^t.$$

Solution:

$$y(t + 1) - 2y(t) = 2^t \Rightarrow (T - 2)y(t) = 2^t \Rightarrow y(t) = \frac{1}{T - 2} 2^t.$$

We cannot apply (2.6), since it would give a division by zero. Instead, we write

$$y(t) = \frac{1}{T - 2} (2^t \cdot 1).$$

By applying (2.10), we obtain

$$y(t) = 2^t \frac{1}{2(T - 1)} (1) = 2^t \frac{1}{2} \frac{1}{(T - 1)} (1) = 2^{t-1} \frac{1}{T - 1} (1).$$

Finally, using (2.4)

$$y_P(t) = 2^{t-1}t.$$

□

3. Conclusion

This paper developed a technique for solving linear finite difference equations with constant coefficients. In addition, it proves several fundamental properties (linearity, translation, unity, and propagation) of the polynomial translation operator and establishes formulae for solving several forms of FDE: λ^t , $\cos n\pi t$, $\sin n\pi t$, λ^t , and $\lambda^t f(t)$.

References

- [1] G. Dattoli, L. Mezi and M. Migliorati, An operational method for integro-differential equations and applications to problems in particle accelerator physics, *Taiwanese Journal of Mathematics* 11(2) (2007), 407-413.
- [2] David L. Jagerman, *Difference Equations with Applications to Queues*, Marcel Dekker, Inc., (2000), 179-183.
- [3] G. Gandolfo, *Economic Dynamics*, Springer, (1997), 61-68.
- [4] Abdul J. Jerri, *Linear Difference Equations with Discrete Transforms Method*, Clarkson University, 1996.
- [5] P. I. Kalenyuk and Z. M. Nytrebych, On an operational method of solving initial-value problems for partial differential equations induced by generalized separation of variables, *Matematychni Metody ta Fyzyko-Mekhanichni Polya* 41(1) (1998), 136-145.
- [6] Georgii A. Kamenskii, *Extrema of nonlocal functionals and boundary value problems for functional differential equations*, Nova Publishers (2007), 36-40.
- [7] Wilfred Kaplan, *Operational Methods for Linear Systems*, Addison-Wesley Publishing Company, Inc., V2546P409 (1990).
- [8] Walter G. Kelley and Allan C. Peterson, *Difference Equations*, Academic Press, ISBN: 0-12-403330-X (2001), 54-59.
- [9] Hyman Levy and F. Lessman, *Finite difference equations*, Courier Dover Publ. (1992), 94-119.
- [10] Ronald E. Mickens, *Difference equations: Theory and applications*, CRC Press (1990), 88-122.

- [11] B. M. Mikhalets and L. I. Savchenko, The approximate solution of difference equations with polynomial coefficients, *Ukrainian Mathematical Journal* (1975), 678-682.
- [12] G. L. Silver, Applications of operational calculus: Trigonometric interpolating equation for the eight-point cube, *Applied Mathematical Sciences* 4 (2010), 1057-1064.
- [13] J. L. Wu, A wavelet operational method for solving fractional partial differential equations numerically, *Applied Mathematics and Computation* 214(1) (2009), 31-40.
- [14] Dennis G. Cullen Zill and R. Michael, *Differential Equations with Boundary-Value Problems (ISE)*, Brooks-Cole ISBN: 978-0-495-55623-7 (2009).

